\WT"*T:_)J:'Q.AJ‘ JJ.SJ?M\ ;l._..)JJ.iS.t-u‘ Y;\:’LML‘;E
Qlisla  laiall §1a Ael 50 Ay
b VY Al YoV YAV platia) dlaa s g G A g SLY) il

da Y Y olada wo N aa sl
S ol o2 Jaa) YoV Y /YN Y aalad) alal

#_"

il 3 gana L mﬂ Jal ol e paald plidllae van i puiadaal dda

(O AL @l s ) Alay) A3, L aday) s 4 el ALY asea

(daa f. éiIX\') c J N e

C ol G L DY gk 2 ees 83 -

ieS Zlasy) 53l ) 5 paiadl (i Dlal o die Lgle) je cany S LS aal SN Y
. ' - B s 5

" e Cinall e dasviwal Ga ¥ 8 ded ol daibe saile cBlE Laad e itk " Y
sl ae el oSa Al adpdl JaaY) aley ¢ dnaliall CDREN Clial o ale
Al G ) e aaaty Coay

g Al dleall & 939 A Lo ¢ dagiill A8 pha (55 5 Jse A il laell p aua —8

cds cll daed (S il del 3l e dalill g JN A 3 4l

EESIRY = ¢ XV ) Hll e

£ 13laly € (5 )V os) by el sall (8 gacil e -

el Jitas 3aS8) e JS B e liall matll o jal b 5 e Jle -V

Csaddll s oIS Y e JU Leliin 2Ll Jee S CaS Y

sk A Al Bl (b iy Lagdls € b LS s b et =8

Y (e



(Aajd b =& XV o) Q) Ji e
-l e Veneer Ay jla adl gl S e QI8 -

. s b Aiel ) et laliall (ol g el del 3 Ay el gyl ol ale - Y

ol Sy ity SO ae ba a3l e F g conn (SISY Cilial aud Y
ccagall dadliall ol a8 e il o caal Il g il S0 — ¢

e = e N Cagd —— _ -
8 il g Ll lual Cadal A

—_



TARLE o TV SRVEVARS uLa.mfl Slasa g oo LS i g SIEY)

I'.I_'i: . ~ ..q - !.._. ey L _:' o 1

et TET R el T s o :

sz o Dl T A 1) ‘L veolasasU "'ﬁ A< ¥ m L | B |
e I | >4 RA O add) A Aal5Y 48 jal
P Eh o AT Y T e e s . e P

il,ﬁ_‘je_-;.';g_-l'.;-_r.i{.:-_ o . - »

A S N ' y 4

e T T L L T coED e : w J ~ ?

Eficligm e i e . i

s g ora T

(m.a'fu‘a.ﬁmﬁ e ) Ay ALY auas
(3.:.;__;.311): iﬂ ) ‘]

Jpaadl gaiide ) 5el quala oll 1S5 ¢ Piqual ciiea ¢ydu) de el @ll il 6"
(s 1 £) a3 e e Sy 0l el pale L
AmzeS 2 Lany) 52l 3 5 el (o gm 3) J@iﬁdﬁsmgjb\ﬁ%;ﬂlhuﬂl ﬁﬂ <Al ;—;.-T,
(A2 VY) ' ) - B0 555
ghie b el s o e BT e ¢ el Aed ) dudiall dgat cilabaal) 6 —
CESIRED ' La
fes )6 4 Lase ¢ il (5 950 A pall LS A 5 ok Jod iy asdads s =

o il e Jpraadd o U pasdl dbesa g ¢ Ll gal &k ¢ Dlee UK 6l al

. CEREY | cslad
(A3 1) . Gall Sl sailall puaki Z il La il 6 o (A1 b g 80 8l — a
| (A s oi=6x1£) 1 JGY (sl
) el L) die Audial bl (JA5 583 b el gaae i of cona ' ]
A3 Al alisd gl Lisne 5 5lual 030 (28l
% e&uﬂdﬁdﬁ’igsmmuu.diytggyj_)uj}ﬂLla;..c\_n_ujsux.mgs&\t....nl_u_ale.uﬂ

3 AJJA;.‘IL_MLJAMGAIJJJHJ: Telo FLcd_mJﬁLu‘Lgﬂ|4£|_5;_“[;cJ|_}ahlniLnx_ﬂh W

. .Lle;jLa_;L.jju"u
il oy by s 30l 3 Lol e iy Al Gyl g el sall ale =

- Tl

Sl dpana 3 =¥ T gl arior gl pliillae - gpiatedl i



VA Y AgSl ) jhall 255 g e i NS Aaals
» iuhr-b.«  laid) 5as Aef, 3 duls

e ¥ VY JThs ATy dlagay g A Sl
(A0 YRr) solaial Ay da AN AL

S ol 52 Jeadl) YA/ N Y adlal) alal

_ igkﬁ dadae d + ke :ﬂ‘c.'ﬁhﬂabtdiif. Q._Q.EL&CM‘ LG nd*i:@ﬁ:ﬂ.ﬂl@

da jlaal 430N '@-q
(A2 X)) :d ¥ s

e G e cilall (e dapdiuall (a8 el dualie padle i Lol @lie by -

9,
i) el i) e

) LA ) i Ciand Y iy il &s '-d-"-‘-UJuS-uu-ﬂ' abyall iVl lag
e S ey i Jae b dlias e BB giall gailall Jpual e clial SH -
L,SML@IWU;JIIM&N@ASLu.ucanngthwhﬁhf&m“t |

g ) el ey LSy A3 e A0 g ¥ Al
aaL_mJ5uquAs@wsuau Jmmuawwamwwﬁwmmusw"—.:.
| . L
(A g9 o) AL 3 gl
= i) aia S b )0 ALalsh AL (Jand) phadiad 43y b i Jaa ohla -]
| v AN Bl AR
ol Ll dblgiuy Asanal ulﬂlwwﬁ.ﬂ—g
Pl oma) Sase S3 aa galidl Bap 3 @il o 5 pala 0 ol a8l Ay iall ol pbal g
| 35kl 8 b ol
ta-weuﬂ.smi-'hﬁm&dmuiuuﬁ_uuhﬂuhuéﬂuuw& i
| (dad o) sCaltal (gl
v JS A ol S5 2 Lgandal dlage Guaa JUE Ll cilical puid
c Ol pa Wgle BB AN Jal gell aLap gl Ll A ke 583 o
Al 5Ll Lagy cpaina TSI SISH B Aol 5Ll (ha aliSl Gl S
[Aapa Vo) sad ) sl
i gl B Ao )l il Lgale 55 3 Jad ol Ala -]
.@J\—Ja\sﬁ‘:’i—sm’hﬂlCHJSMAEJMEJJ_,SE\—H
> il dlega g Ll (s o uii Jad¥ yas 1 S oull gall (B ptall oy puall) 4Gy b ¢l g
v @) A el agds Maag
e Al el ——— s -

' B8 Al 5 Ll clnall bl ae




»

VY. Y ‘k@.:‘.‘l 2aall 368 {u-ul grandl alall 4.2l (_L.a.d! Clacia) MJMM?]I dxal
et a5 e ‘“.w/'r del, ) Ayl
(GJJY")UMUUSJMQJ)Y. T/ Th: (_ﬂ..'&..m”}’i JLL-AJ@JL) A__G.SEJ\?_MB

(Gsisa Jlwdl e dgana o3¢ AgEY Jlat v ae Opald rlall ae vl opiataad diad

: ) ALY e 08 o

(A Vo) s B

gl LS DY dgmaall 2 Gl e e SH

g prmna 300 ) oSy g gl Jguana Legle B g Sl Jal gl Laiil gt —o

ao b wgie ai py e 8l £ LBAY SN Sl ke Caa T 01 Jpana alisd Jie ¢
eV e SI e

C s b S § ol Lud axatiud A (i e calas el el il ale =

(Aajate) 0 el

o JS 3 e Y g s | SIS ¢ Adliaal) Al ) il ~|

Sl lis Led ity slabie b clall el del ) ASSe Lo el oS S o
e...uﬂJffd_u_\L_m_)SJ\eJ;M‘hﬂanM1L¢\ouJng|P¥Lmélﬂ\uLm‘ruﬁ N
Vi) el UEEE L AasLE) Ag el SH -

(A e 10) &l (Jisud

caabiaa wllgall eiad o Gl i€y GaS -

Vool el ave - Regfeeniﬂg : e JS e 4d ole J8 -0

agie S o2 leale il (Say Sy ¢ galS s 5 el a5 e JS (B Anglaall (e S 7
.EﬁLﬁJlﬂc_@J@jmﬁlM]EUﬁ Sl el e K3 =0

ceolaiay) Alind A«



e s S W 1 dasis =

ALEXANDRIA UNIWEIRSITY

(VY9 v )b olad Aad 5B jadl ghiiall AgSlh o hall 38 aud }f‘ ”’} Syt A
& izl
~ "Hfg! ) )
oAb 1 eyt b 3:@ IJ’J“ ach 3l aals

blaa VY Aeladl YoV /0 A olanah slasa g A A

Foavally oof Mg eibloing

IS o

Jg Lo g Sl YV £ Y NN Y el alel fad VY bl AN da

Cispe Jhedlas dgane L2/ dube sea deaa 36 uald dala Fldllae a0 Cudadaall 4

l -

bast s dadea cliaey) — ¥ AU ALY ases 08 el =) e

(Aa e YY) ¥ Jhsud!

TP

Cosol Zus g b %ALY dpdall a3 SH -

Lb‘qr- izl ey aJuJ} BT ‘5:\}1 ::.ELJ.QJM ks.a:\,ai b yaiall 'E:JL‘;S;E l5.‘3 do laall Bole e g Sl &LJIH}"’ a5 \,55'““"' G

U.::U:.Ji PRTY

alenll 520 ol jal Se S 5 LSO 8 Leliva Galaad SIS il dans jlad =l 1alal -~

A3l 5 oSl Le Jhaill e blendl oda 280 bl 5 skl e ldt L Chd Aglee g —

e A8 wd La (B (Ao ja YA) A ] gl

35S Aandall - S el b 0.

- el bl jlad cands 4 3 e o Ao gaah 28 gl

;5 gSdal) AS) gl) B A cYA) igan wiled 831 (Aa 0¥ A ) sl ) g

_Eﬁwiﬁiﬁuicuﬂiﬂimjdh‘ﬂljwm_@ Jidalt gl Lds Jiled Coge g L

T ot

Undal & Jalall oalill o 5 Uil 8 dadid s SladVU e byl pied xe i ¥ gile i el dsag—

(a7 ) sl i

dﬁ.u:; 3*5&_}"\ Hj_ua Er_)L‘u.M B LJ.NELJ LMW D3 ¢ ¢ ("E_u::..l g JU:. Jl JLA._.;.Q ‘__E.E r‘LS&JJ L.Elﬂt gk C:;.LL“ Jj.a_H iﬁﬁ N
mﬂ SRR ‘_A:

e g Ayl e b L g allh bl alealadl 86 e e SIS il jlasil a5 a8 - o
g BT R SpestYy o, (o e ol

5 Jyeans o Jsandl el g5 50 5 ddde ) il )l 8 el E pu gl JUS 0 ol pail sl i o
Adlle 25

r.i.cs;ncr.uu;k_t\.n_uk\}_ﬂ C.ig.u\



i

ALk K.hl'll:l!?lﬁ L VEfehlTY

(VA7 F) 5 kadl asd g5 ladi ghliall 44806 ¢ ) Ball agS g au XSyt Aol

2 A P ENPY R " st 3l Al

E\.dﬁl.ﬂ'ljru.ué

bisa T Asbudi TOV@/ VA laied) ey fu o

Fracuiby ol aygniolbon=

- aa, 5 VYL lahadd Al A all

SV ol 2l il T8/ T e aaladl alad

a9 Jhudiie Jgena L daac daas dana L4 ald Al Zlallae o) 1 aiadaal 4_,;.1

A ren -

Saaly dadea GliaaY) = ¥ ALl ALY e of al - rladed
(oo o=\ x4 ) gy U g

<o -

i e Lo U Se WSy padlall jladl Jpeasa Lo gy Al Sl S

ol Jalig S gl Za s DY Gacall Bl gl e ees SO -

Loled Y ol 2l del ) dubiall B el Slalia¥l s L s

S ol oblall det ) 3 aie Lol Lay a1 Al 5 Slgetl aall i d 53k w Sg S e

rai \ ” .- ‘ ;H"-

(i}_ﬂ).’*i*: \~KE}EG{!J\M\

ol g peadl el g g9 8 5 Ak gl dde; pal ) 8 AUl abEl el g ) b e
:.._-75}'-.3 Lao J.S e 4.34,:_! a ,_,‘3‘”—‘

-L):.‘.._fm Q_é. ;L‘_!J__:L%EL‘H J'L,qf-_'-.! J}E-J Y
.1__'.}1‘-‘:‘)]1 JLaj -._Fé‘ ‘__,.-.n.ﬂ_aji -Lt_._k.ﬂr a_)}b"_:':;-, _%
el pa ciiadll dallall il el Sl g ¥

1 Y T B T TL QP S L I TP = acalall aolall Ao Ly jlat ol gy Led SISH Gl ol -
il e b lae JS e e o

Certified Mother Trees -¥ Caprification -\
Poyembryony -: Metaxinia -Xinia -V

(A )31+ ) sl ) gl

(Aa e vi= ¥xY ) r il e Joles JS_3BL

bl gadhiall e ALl L Caa ddee Cad T

.51:*5911 J_a.)iilhﬁlui_;m*_é:d@diitjjqﬁij Y

(An e vom oay ) Shtee 8w B8

! —uai! AU | ol Ada st
el LS 2 |5 d sl Lui gl Adpeslt
UL jlalsd sall g e jUll Y

Hnnnnni_‘éi_‘\éjﬂ\g !._."l_‘._\AJ.]‘ ._,___L“_LJ_:j\ — c\L_u.‘j\ _wa_ul



i i

Adlpdl alaldal) AgCld VTPV Y Al Ral) eS8 g s Ay paiSal) Gl
Sl 1 olaledi 6 At )5l Al
(VY30 ) ¥ ovT/a/h e lada¥l dlagay e L AGSIA) ad
(A T ) o oladadd 4ugl Al AGAY ;A8 A
Ve300 e Laaladl alall Jo) ol sl Juadll ladal

Eﬁ:ﬁj& (JLA) hétii &‘Lhﬁf Jﬁtjj:ﬂ X J&i‘ML& le A X

FOLL I T

| plssss S0 22 mm BN ey kmmam . rsp| Fles bm s Blag: » = Mp = ‘a —_ 1 T Wa— "

(4ap0¥-) EVAR Y AN N TR

ol ga dsd 3L o comaeobuaiBl Y giana aiia g Adladl Blaliall 8 el O oS Gl gl Ly

. Qﬂ_ui«e t..ll.'mﬂ\ pea Caldaea) }a.n et Lavao 64 B J_}Lm.,“ DAL ¢ el ¢ Aald 4.1;,. _3.13_\_._1.55 ;ﬂln.:;::-.:g i) ¢ Majj'gﬂ ) 3 '
oy e AP G 3 gl edaall b B Les oy g3 3l i M Al Calaal salt e rl‘? g

.

’j}*"“:ﬁ*m p‘.}‘.ﬂ.ﬂ-‘ﬁl j"’?"'”u"q‘u iﬂL“ﬁE" “:".%E'ij"':‘,_? "'-:-.-JL;-}AS LLLHL 'L.:'l‘l_.q.u:ﬂ"g ';-11-41]1-3 L‘E—Sj.m.“ L;t:j"‘“ G TLJL.LJ .J'IJ.-&:;E Lm‘_ﬂ‘}:t CTLS "‘::": ‘.
. g ke

e : NE aE o 4 . oy £ | : v Y "
v Laloa) L'.'_ﬂ;‘;ml_ g4 g :,5“31'3 Lf}g'lj-‘ L&J {_5;.11 ) jﬂ'l AR ( betamd g |t ___}f:\...n il G

(At} e WU VI

.I::

aeall = 3 sl e g ~ madlill -l s g T e 0N )
Sl = sl gle N
(i,-;;.z g4 Vi) 5 guitall & gall ool & AN sl sl -
vomadd) Aeaad el ol il A4S -
c ol gad e bl cagadl ) sl CDlalea imeg A4S -

ceg B e Ritiae il fiwa cand 5l c0d e JDRIWATER b -

- -

Ty

o oliall il A el g el Juialll Jamas Laglide o 1 )5 8l 4 b dlalsea

'h.-l

-

( da a ¥ 3 ; teadbidl () g
by il Cgaall o gui A AIEN Lad s -
enall b ) Sy Ll g il LS i g )
s idaad) Bl G Jaady 13y g el 3EDke Y
e bl alodials agall s Ul Y

vagall g (3l 5 pill 5 palll ¢ g g doaiall g Adlaall Al ia e T



e | :%"L"S‘““ S g M%
__ ALEXANDRIA UNIVERSITY
| e " " ) ._
(16304 } wauindl g oudll g Jeddlt g gl 5 Zl} o s 8all 268 g aud f E G jASu) Asalay
¥ : W
e L : plda¥! o Y% ES o Y iel )N A48
B
lalia 11-940ldl 2015/6/1 1plaiad! daya }‘;;’g:’::;ﬂ;lﬁlul: agslal .?-r-ui
: = EWLFL | - , ;
L,-JL\I* g.u]_‘;-'t” Lj.r.::.ﬂ.“ 20]3/ 2014 {_:.,-?-HLLH *:.l..i.li rd d-:_l_)u'l IBUQL‘\L&U d._.}lﬁi A.Q.JJH

Sk na P ol Sgmer prllwra v

Boie Mudlae dsana 3 Apbe deaa deaa  d Geald sala FLAIe 3 udadieal) 433

TR T h ALll) tay o cual =1 1l pals
(42 60) : S8 ) ‘el
— ol JESY 8 Geslaadad wie (3 5Y Alad o5 3l Jaad 5t Al Clalaall <Y
Clgatd Aaddiieall Jiall Culival go ke
pda Jumdl b Lag Wahaa] ol jad 485 48 jha S ol pal alapey sl LS a2 Gob Si-a
?13lal 4 £5 ylal
PR PE S I VS PRV IPTRY  EN< R IS VRN R N B X E SO S s SN Vers
Tlalad 5 Ccangdl Tha 38an
filiadl o3l Hladl Jass Cilad oals =2
(42 60) : SU0 () pesl)
sl el a LD o oKo A8y e |SED Aaha ) aablud) QJIF Ol i -
Saall QA Abd cliial ge 8 Lo -
remar Ao Jiall ol cilial S5 ae 0l pland] (3 30 A A8 A8 gl asia $ o g
Al pra g e g Al A0l dpad Jo Jead Al ) iy -
| (432 60) & &GN () ‘g
il Jal e (DA @bl ol aala (e 5ol diey B8 5 Ral il 30 A e
(A el g S A e se )l ool Qiel) Cabal A
REISAY IPETREEY [PREIS I W PPV I RER GRS U U BT
el (& sl ool A e sal) e pued SY -
lede il Ay Al e jelae ciia . cuiall el 1 a gilend) g aal ale -2

Huu-uuné:\éﬂb_ﬁ_lw\ l_.u.l_'n‘ — Ajfla.uiﬁ‘ ultg_ﬂ'nﬂ



Y1Y. X 4..@"‘.5 J)S.AJ\ .'LgSj ‘a.u\ (;LaL!hJ\ eL‘I.U ui_:.c.a:ﬂi d.ud.ﬂ‘ L:}L‘.‘b.ln\ "l..l_‘;."a.f.:.u‘ﬂ “J..al.‘_u.
clde b ¢ ladatis 2a 'r.w/'r..n ety Ads
(1_1_).! Y ‘)Um A—‘--t‘”} ‘L—l‘-‘-" Ve [ ;‘\ Olasayi dsag C‘IJL' A\_.g..SLiJl fn_uﬁ

BoJy Ll LS dsana v Al Jlat ol Q.gﬂ,-L&:Uﬂi L v s wm'lm

: Ay ALY s (9 ey

(A Vo) sd it Jpad

e Spdl b SNl Basaall B i KT

el srane 50 ) (S iS5 < splall Jgeana Lgle gl (T dalsall jlalaly (80 -

s dawgie adi_gy o8 BB S 1Y Ll Sile Ciaaa s 3l Jpana palindl Jle 7
O e S e el

U L e € e L aasid (A G e pala s oosh D Ae ) ol Lg_.gu -3

(A p3 10) 1 Ll () e

Cand S 4 Y g g |SHY ¢ At addl ) ol ad -

faladl Jla led dmy bl (4 ola)lt Jladldel ) dlShe o calddll (e S~
Cowd JS alty a8 5 ¢ Al soladl o b LS ol gis) s (SISY Cilinal b -

' A eall el S Ra0lal 45l &Y -

(A 10) &l () el

bRl el gall Gaind Cp joall @li€e <8

-w;&ﬁll.mr- Regi‘eenir:‘}g :QAJSL*Jco\éJdLoJﬁﬂ_.J

agha JS (8 Lgale Gl (S caiS g ¢ oS5 bl JiAS e S (8 Aeleall 0 WIS
o S L ol dlage s Aibiaall Aaddl g1 gl s ae)se S

Hul_‘n:s.a?$ Ma.ui E-ﬂ\,}:.:l is



iy L and
TR N, s AR TN DL D L e e (L e g 4 M i T Y N il S PO Nl e i e R P N el ey Ny gy B e I gy Y vkl i e S A gy M A G gy Wi S S e iy e B s ey e e el Y PO N iy ey S VN N o e O A

Subject: Propagation (16301) Second Semester 2011/2012 Alexandria University

Total marks: 120 No. of pages = 1 Faculty of Agriculture
TA: 2 Hrs. | Pomology Department
Time and Date: Tuesday 12/6/20012 12 -2 PM.

Examiners' Conniliﬂee: __Prof. Dr. Ahmed Essa |, Prof. Dr. Atef Ibrahim

Answer all the following Question:
Question 1: (30 marks)

1 — Define the sexual propagation, what are the purposes of this method? Draw

longitudinal section of olive seeds.
2 — Explain the balance among endogenous hormones in seed germination and

dormancy. How can you apply cold stratification on seeds?
3 — Write the importance of each of the following:

~a. Polyembryony |

b. Tetrazolium test

¢. Mechanical scarification

ﬂuestion 2 130 marks)

1 — Give the advantages of propagatlng by cuttings. What are the steps of
rooting on stem cutting. _

2 — Explain the anatomical and physiological bases of root formation on stem
cuttings. |

3 — Write the effect of :
a. Etiolation
b. Wounding
¢. Mistsystem
On rooting of the stem cuttings.

Question 3 (30 marks)

1 — Define each of the following:
a. Somaclonal variation
b. Differentiation
¢. Dedifferentiation
d. Somatic embryogenesis
2 — List the constituents of the culture medium.

Question 4 (30 marks)

1 — Explain how hormones (auxin and cytokinin) affect plant differentiation?
2 — List the limitations of micropropagation (tissue culture).
3 — Whichever method of grafting you use, what are the important points that

you should remember.
4 — What is grafting?
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Subject: Temperate fruits 16303 Second Semester 2011/2012  Alexandria University

Total marks: 120 No. of pages = 1 Faculty of Agriculture
TA: 2 Hrs. | Pomology Department
Time and Date: Thursday 14/6/2012 12 -2 PM

Examiners' Committee: Prof. Dr. Ahmed Essa Prof. Dr. Atef [brahim
Answer the following question:

Question 1:(30 marks)

1 - What are the advantages and disadvantages of cane pruning, write pruning
units in this pruning system.
2 — Explain how the soil fertility and training system determine planting
distances in grape orchard.
3 — Give reason for each of?:
a. Presence of shot berries in a cluster.
b. Grafting grape varieties on American grape rooistocks.
¢. Girdling of arm or cane at blooming time.
d. Sprayving ethephon on grape cluster. |

Question 2:(30 marks)

1 — What are the suitable soil and climatic conditions for planting peach?

2 — Design irrigation and fertilization programmes for mature apricot trees.

3 — Write the purposes of fruit thinning in apricot. Describe the methods of
applying fruit thinning in apricot and peach.

Quesﬁﬂ_n 3: (30 marks)

" 1 —Discuss the pollination requirements of apples and peaches.
2 —~ Explain the purposes that peach fruits can be used.
3 — Explam the following; a - Sticktight, b - Caldwell sysiem.
4 — Give reasons: |
a. Sometimes, almond nuts can be freated by sulfur dioxide after

harvest.
b. All cherries don’t thrive well in Egypt.

Ouestion 4: (30 marks)

S — Discuss the problems that can face the cultivation of the temperate fruits in

tropical and subtropical regions.
0 — Discuss only two of the possible means that can be used to overcome bud rest

under tropical and subtropical conditions.




Alexandria Universtiy | subject 1 16302

Faculty of Agriculture Tropical and subtropical fruits
Pomology Dept. Hours allowed : 2 |

Date and tiume: thlrdyear 17/1/2012 From 12-2

Total degrees : 120

First semester Exam 2011 /2012

Exammers : Prof. Dr. A. Shahein and A. Fissa
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Answer the following questions :

= = it

Question 1 : (3x10= 30 degrees) (pases 2)
(a) Mention five health benefits for eating bananas and why? P

(0) What are the suitable methods fir removing the mother plants of banana
after yield harvesting and why?

(C) In a recent olive orchard, olive grower asked you about increasing his
income n the first year after planting . What are your recommendations to

him ? and why ?

Question 2 : (3x10=30 degrees?

(a) Put a fertilization program for fertilizing adult mango trees at a drip
[rrigation systemi.

(b) What are the maturi‘y indices of pomegranates.

(c) What are the most suitable soil for planting guava trees.

Question 3 : (3x10=30 degrees)

(a) Explain why does date palin require artificial pollination. How can this
poilination be applied on trees.

1 -1




(b) What arc the suttable environmental factors for optiman growth of citrus
frees.

(c) What are the differences between pruning non-bearing trees (training) of
fig and avocado.

Ouestion 4 : (3x10= 30 degrees)

(a) Give examples of three species with false fruits, and write three varieties
for each species and their harvest date.

(b) write two rootstocks for each of Citrus-and persimmon giving their
advantages and disadvantages.

e

(¢) Explain fruit thinning in date palm, give two soft date varieties with their
harvest dates.

end of exam.

Best wishes

i
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Alexandria Uni;ersity ) Subject: Fruits of Hot ﬂﬁegion; (Pomolﬂgi; 16302)

Faculty of Agriculture First Semester 2013/2014 TA: 2 Hrs.
Pomolegy *Departmentﬁ' Date & Time: Wednesday  8/1/2014 from 12 -2 PM
Lxaminer: froi, Dr Atef Monamed Ibrahim Lotal Marks: 12¢ ~No. of pages: 1

Answer all the following questions:
Question 1: (30 marks)

a) What are the advantages of banana crop that appear (ripc) during (November -

March) over those that ripe during summer (July — August). (6marks)
b) Explain why a banana plant is not a tree. (3inarks)
¢) What is the importance of covering banana inflorescences with blue polyethylene
-bags?  (6marks)
d) Explain how to protect banana plants against low temperatures. (6marks)
e) Itis advisable not to grow banana plants either in the soils that had previously planted

” with banana or vegetables, why? (Imarks)
{) Explain how to ripe banana {ruits using gases. (omarks)
Ouyestion 2- (30 marks)
a) Explain each of the following terms, giving cxamples as possible:
1) -~ Creasing - 2)—Degreening. (6marks)
b) Name two citrus species which are monoembryonic. (2marks)
¢) Name two citrus rootstocks that tolerate both gummosis and quick decline. (2marks)
d) Set a fertilization program that is commonly used with citrus trees, (10marks)
¢) Mention the flowering time and harvesting time for lime and lemon trees for each of
the folowing: -
1) Small fasting 2) Natural flowering 3) Big fasting. (10marks)
Question 3: (30 marks)

a) What are the values of the total effective heat required for growing soft dates and dry
dates? (2marks)

b) Explain how rains can affect pollination, fruit set and yield of date palm. (3marks)

¢) List the characteristics of a good date palm offshoot. (Smarks)

d) How onc can calculate the number of date males that require for pollinating a number

of female trees. (10marks) |
¢) VWhat is mosi appropriate methods used for thinning the fruits of Samany and

- Zaghloul date cultivars and why? (8marks)

Question 4: (30 marks)
2) Why papaya growers set 3 or more plants in each hole? (Smarks)
b) What are the differences between the Mexican and Guatemalan avocado races?

(Smarks)

¢) What are the important factors that determine the total yield of mango trees?

(omarks)
d) Why annena flowers require artificial hand pollination? (Smarks)
¢) Name two olive cultivars utilized for oil extraction and other two for pickling. (Smarks)

f) Why pomegranate seedling, sometimes, is trained to have more than one stem

(Smarks)?

Good Lauck
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Alexandria University | ) - | Subject: Pomology16302
Faculty of Agriculture First Semester 2012/2013 TA: 2 Hrs.
Pomology Department Date & Time: Sunday  6/1/2013 from 12 -2 PM
Examiner: Prof, Dr.Atef Mohamed Ibrahim Total Marks: 120 _No. of pages: 1

Answer all the following questions:

Question 1 (20 marks):

a) Mention the characteristics of fig fruits that suit drying (5 marks)
b) Mention only two fig cultivars that suit drying and other two for canning (5

marks).
¢) Explain how one can differentiate between the three avocado races (5 marks).

d) Explain why annona is considered as a semi — deciduous crop (5 marks).

Question 2 (25 marks):

a) Mention only three factors that determine the total yield of mango tree; then
mention only two monoembryonic and other tow polyembyrionic cultivars (10

marks).
b) Mention only two olive cultivars utilized for pickling and other two for oil

extraction (5 marks).
¢) Explain how to get rid of the astringent taste of kaki fruit? (10 marks).

Question 3 (25 marks):

a) A grower asked you to advise him how he can supply the markets with lime
fruits all year round, what you say? (20 marks).

b) Describe the characteristics of two citrus rootstocks (5 marks).

Question 4 (25 marks):

a) Explain why banana growers prefer selecting the offshoots (first ratoon) around

the mother plant during June and July (10 marks).
b) Set a fertilization program for banana plantations located in Alexandria and

neighboring areas (15 marks).
Question 5 (25 marks):

a) Explain how can you determine whether a given site is suitable for growing date
palm or not, then explain why dry dates fail to thrive well in the northern part of
Egypt? (10 marks).

b) Mention only two dry date cultivars and other two soft cultivars (5 marks).

¢) Explain only two practical ways to extend the shelf life of pomegranate fruits in

the markets (5 marks).
d) Mention the frult type for each of the following crops; (5 marks).

1) Papaya
2) Olive

3) Mango
4) Guava
5) Banana
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Alexandria University Subject: ~ Pomology16301 (Propagation of Fruit Trees)
- Faculty of Agriculture Second Semester 2012/2013 ~ Final Exam TA: 2 Hrs.
. Pomology Department Date & Time: Wednesday  5/6/2013 from 12 -2 PM
-~ Examiner: Prof. Dr.Atef Mohamed Ibrahim Total Marks: 120 No. of pages: 1

Answer all the following questions:
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Question 1 (20 marks):

a) Mention only two criteria for selecting the mother plant (5 marks).

b) Write only three advantages of the sexual propagation of fruit trees (5 marks)

¢) Differentiate between epigeous and hypogeous germination (5 marks).

d) What is the meaning of polarity in relation to root formation on the stem

cuttings? (§ marks).

Question 2 (25 marks):

a) Explain why some pear cultivars are compatible and others incompatible with
quince rootstock. (10 marks).

b) What are the advantages of budding over grafting (5 marks).

¢) Explain how one can determine the purity of a seed sample of a given cultivar.

(10 marks).
Question 3 (25 marks):

a) Whichever method of grafting you use, what are the important points you should

remember? (15 marks).
b) What are the roles of auxin and cytokinin in root formation on the stem cuttings?

(10 marks).
Question 4 (25 marks):

Explain each of the following terms:

1. Parthenogenesis (5 marks).
. Vegetative apomixis (3 marks).
. Subculturing (5 marks).
Dedifferentiation (5 marks).
Somatic embryogenesis. (5 marks).

W op oW

Question S (25 marks):

a) Mention only the environmental factors that control the tissue culture (5§ marks).
b) Explain how hormones can affect plant differentiation (10 marks).
¢) Explain why tissue culture plants are recommended for banana planting (10

marks).
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Alexandria University Subject: Pomology16303 (F ruits of Temperate and Cold Regions)
Faculty of Agriculture  Second Semester 2012/2013 — Final Exam TA: 2 Hrs.
Pomology Department Date & Time: Sunday 9/6/2013 from 12 -2 PM
Examiner: Prof. Dr.Atef Mohamed Ibrahim Total Marks: 120 No. of pages: 1

Answer all the following questions:
Question 1 (25 marks):
a) What is the fruit type and the edible portion of each of the following crops:
1) Apple 2) Almond 3) Pistachio 4) Grapes  5) Pecan (10 marks).
b) Mention the advantages and disadvantages of both French crab and Northern
Spy apple rootstocks (10 marks).
¢) Discuss the pollination requirements of peaches (§ marks).
Question 2 (25 marks):
a) What are the problems that face planting the temperate fruits in tropical
regions? (10marks).
b) Explain the methods of overcoming the dormancy (rest period) when growing
temperate fruits in the tropical regions (10 marks).
¢) Mention only three apple cultivars that are characterized by low chilling

requirements (5 marks).

Question 3 (25 marks):

a) State the advantages and disadvantages of Head training —spur pruning
system and explain why this system does not suit Thompson seedless grape
cultivar? (10 marks).

b) Draw and label a sketch of a mature vine using the head — trained with cane
pruning system (10 marks).

¢) What is the most suitable method of fruit thinning that can be employed with
Tokay grape cultivar, why? (S marks).

Question 4 (25 marks):

a) Set a general irrigation program that is used in Egypt for irrigating most of
temperate zone fruits (10 marks).

b) State the characteristics of peach fruits that suit canning (5 marks).

¢) Mention only two apricot cultivars that are usually utilized for drying or

fresh consumption (5 marks).
d) Explain how to combat fire blight disease in pear trees? (5 marks).

Question 5 (20 marks):
Give reasons for each of the following cases:

a) Sometimes, the nuts of almonds are treated with sulfur dioxide (5 marks).

b) All cherries do not thrive well in Egypt (S marks).
¢) The appearance of Sticktight phenomenon on almond trees (5 marks).
d) It is preferable to grow more than one pecan cultivar in the same orchard? (5

marks).
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